MAT2T705-035 TEST 3ITAKENCME ansuwers

® (PP+30LH4D H12)y = 56
d) M43r?+4r+12 =0
(F+r3)(rivay =
r= —3 -.-i-.Q.i.

L’)‘ 9 = Cle -3t + Cz. Cos?.‘l:+ C3_<,m7_4c!

<9 9/ = —zZ(\& % ~2C28m2t +2Cz cgs2k
a9 e,3+ -G (38 ~4Cz 8inlt

9“=

\J(O]: C’i {- Cz = 1;
y'()=3(, +2(z = ©

yoy= 96 —4(; =0

L L O 13 preef ['\004 (=4
30 7 oj ol 0 gl cp=
L_g"‘f o 0 001 ¢| =

\t‘te"a*’rc)&ﬁtqt EDSM&J
¥ Lo 13 ) [a1 013

.#;{-;atzzc;ooﬂs I‘? 03 z 9 “
:L_-/-!'q_' ~9 g —W1 0 -1 029
ey on) (1L az,l (1004
63 239510109 0l 091
01 09J (03232 {cozn
“3 o-
[oec4a
01091
voiC chechbgch_um_
(i Y = qe7} + 9 ¢t +6 sk
4[ Y'= -2 HPsll +12 gosit]
3[Y7= 30e7¢ wodLcost - 24 s102U)

1 {y" <1e8 €% 47251t — 48 o5k

Ny 1

LHS = +‘lg‘%)e g —1&}90'3‘-}' ~op\ (51 = 0V
e 5 —~72 449
+ 1y 4109 .

x Son:

00p% 4 read more carcful\ \ooL. check M

v .
My g © r'l (4+9 I3
~302{191= r'\’“l?-&': o |V
1940 jle} 3k ) (0

&) Ysowad = o32t+ bsinlt= 3(3cw 2+ 2sinlk)
= A cosQt -5)

o= /2 fiestauad — ﬂS‘ arctan 273

A=z {3l ‘]Zﬁ 2 (0.82)

0,5980

&

\ 3

= 4e7%% = ol (0w.92)
)
etz L (we) A
=3t =1in (01 (W 8)m) L= —g.\n(.m (l82)/4)
»
£)

* plot{[d*exp{-3*L)+E*ain (2%t +9rcoai2 ) drexp (-3 LEraIn{IrEi+ass

ca(2vt) ], =0, .24Pi,colorn[red, grenn, blue]} ;

Same bnuvarh ar
tT=12

14

, (s 2k S 2{-.}

((Q"EQ

So L) = 30¢xt does not satshy hom eqn, so

9 From b)Y  basisof hemseln:

12{Up = Cq0st t Cgsmk)
4 [ Yp's ~camnt +cgost)
3{ye"=
i[‘g?ﬁfz
LH‘S? = (*Cs%Cq-F‘EC,H‘ZCq)(osk-Q-(Q YLe- 4(4%12(5)5‘1-\{:

= (ZCﬁ_c_pcvs& + (-3, 3(‘4-\-9C5)Sini: BOsist

9 C4 r2c9—50 S 3;0 3 1100 1 -2 a}
—34G49¢s= o ‘l v oj*’ 2110
“3+2 b 2

1 -3 V-2 Q [0 3 Ca=13
? (9 o 10}*’% vl [Ol e
12 [y = 2cst vsmb]

4 [Lg?"‘ -3¢0 + Cost)
3 (yp! = wzgust - ~sint)

L0y = 3gink - ~Cost)

\J{“‘r?\JfﬂH\J?’ﬂZgF: GV-9 +4 ¥30) @3t = 30 (ot
+(3~3~124+2) Sint

@ x's 1%/ + (50% = 100 o5 wt

Q) I bp_\/t‘o (,)01 To= 'L b Wae = '{ 50
25,50

-qu5£ -{c S'.ng

T4k —Co ccs{;]

¥ 6,84°




MAT 2705~ 035 TEST 3 Answers (2
(Z)b) x"+10x1¥ (50X
D* +10D $650) X = 100 st

rZ+ior+ 650 =0
=~ 10£{1007 4650 = 19 ¥4z500
2 A

100 coswt

-0+ 50l _ _5£2G¢(
iy

\Xh = ch( Cy cosZ5t ¥Czsm zs‘*c) \

Q¢5BMKp= (5 s 25t+ C4SHNISE ]
o [‘?(?f: -15¢z 526t + 2.« Cos?,g"-a

1 (%"= s Cyonst- @ sty nn2st

Ye'rtoxglat SUXp= QST +250s) (o526t = [0 es25E
+ ("ma* 2';(4) sin25t

25C3 +150 (e= 100 | 25 2ZsV (oo 1 LW 415
—250Cz ¥25 4= 0 150 2§ o -0 0
e o 40

| 1o 4 ..J‘ |0 4‘1 L1 o%«wmaﬂ

o w407 o LR o1 F

(3= 4/10L _Cq= 40/io)
15{?: (4 s 25¢ + 40 5 25‘&)/&0?\:: A 10s{25¢-

4 (4,100 A= 4ol = 4y 03980
(o} 10} Yoy
tand=1c |o= arclan 1D
L = L4 x 84.2°

d)“'(%(? = C30% whr Cq S(ﬁl;dt —1
(o (Xv‘lz - ok + GaLo Cuqut]

4 {X{": ~ Gt Gt — Cq WPSIN .;.JQ

——— ——

X! Hovy! s = [€50- )¢5 +iotoca | Lot = 100 Gk
+] ~tow 3 + (650~ WBG] sinwt

(C50~WH G, +lowq= 0D
~low G+uwhig= O

[:;_e?wt_) T R ¥
~{lou (650~} O \\—? KGSU‘U"

(4 —ifessv0 ©

l@ IDLo+ILqu,JLSD-«.5‘)‘ loo
e looéwj/ol

EOJ. 1ot/ D

A(‘v“\: oo
V@S- + ot

b SB~L)
10w

o
—
loﬂl
o]

1 —-f\—q‘FLSD—u
ﬂ)—i 1 o {1owW

O ru Db + 100w
Csica) = 100 (6wt 106)
" €so~w ¢+ (ow?

0.4-

G)
03!
0.2
0_11'
o 20 s 6 80 100
. -.; omega

) 0= AL = o CH( 0D 18.2) TR
+ 2

480 5% 0o [Rep 2(650-w))
~ 100 220 (- 66 ~> Jw= {86 = w&}
very close butsiightly Less thain |~ 2449
Bo=25

Aoy = 00./650

Alole)= lOO/\[ D) + 60064100

ACOR)_ 650 @0, 5,

AOY  {sohten 250

f-» — -7
®°') A-nT = 20 —=x "q\
O o =
der(AnI)= —A34n>4n—l = -(an a2 =0

A= =4, 4 ewgenvalues
mulh e 4,72

12 -6 ~2

b p=-i, AT = [20 -0 -ﬁ\“ﬂ
6 © z
!
I=Y20

L FL
E‘ "'1/1 0 E.Y» [U\
=21 O | P = c
oL Cp O t“s o
Vo=t 2% =4t R\Q\: [‘i{z\. =%
%4 o)

-

Yecall
QR=7,5

)

3)

‘ (

-4 °]
B-w0 o ‘1-;

LOO\J

i

rgt‘—‘ EUQ-ID.} cbub[ef‘bdcqré’ucho;)s,
L

»=A, A-;\'L:[u -4 -2 Y ""’;“’ﬂ

20 -2 4\ ? | 0o ©
@]

1]

o O co @

I [
% “'%*1"%’13‘-'-‘0 YW™=HHIs + £1/5 ¥ - 4 %51 ¥s
0=0 X2k x | l* v
o~o *3=da 3] A

‘L——Fp_—‘” @15‘10—3 ) E‘g‘_'[‘PLE’T




MAT 2705 035 TESTZ Answers (2D

JR—

@ o §=augmen’r(ghgz}g;) ®_§:’nhﬂu¢ci> .
f133) gr-f3! b= Rw), 1) b=[3(w))])
250 = | 2-l-us ‘ _ '
L 0 5l \_o 0 Vs ’::\%‘f; (4, 1+i] (1,1-i]

o ~ll =4\ 25 01= |u-12 L-5¢ W-Lo [@‘@ "11 U-{. ‘il

4 fime divide th decond entry to male d°
)AB: W o-¢ —1 ‘.- ERR W-\Z 3330 Vl"*[ﬂ} - e lde mb_.j C ] +r\_, M
0o 1

0w S 0 0 g : 3 cL,
=2 gag=by 3317 ety = 00 ()
"2 ¥5°0] T2 us||~us o
C 0 SJ LO o ¥slloo §'J \\alg the fme. MADLE glves our vesw [t
grecly.  wlerd bt true,
= |5-6 ~FHs -5 [FLoo] (w© o
247 (-5 2-21 =l 0Lp | ono |V
O O L _l Qo4 loe M
@) for A=l _‘;1: Eﬂg‘l‘ﬂ 1%"“_\,00‘]
m?ie: IO,H";}I‘M\') C‘-[elg] SqMe
[P Y

Yo get O n st (ompment ; (315‘|U}" 3[,]4”1 §] =[O ;S‘;"IS]
. o5 -

divdeby S — [0111 3] = Jg.@r'gb;)

50 just a lmear combinahon of the. huo we. ENM‘.

€) cood bns: X=BY - y= B'x
=16l = y=8"T,25)=](20

check ! - G [_\:2\03

A% ”Z?Lirb;: ~2[ 3,54 = [ e~Cp1,12~1040,0-0 +';]
r1{ 1053 = 1,2:5) v
@ ATz 20 X
-2 4-»

dek (AL = gE-n 2
= Al-¢n 4+ 8L NCA O

A= eaf3emdn - (x4 2|

ré Z.

L F
a=3, ATz [2-3-0 4, ~40-0l0% :H
—7 -t O b v 0

Xy TEH Y=o n= (-0t Rj‘\ \: %(\-D &}:{Eﬁ_ﬂ\

Lt

N3l by=Th= {—;;mc)] by
- A



